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Topic:- General Studies

1) Identify the dibasic acid. / T§&R®T 37T P UgHI—T|
1. Hydrochloric acid / gﬁ@ﬁﬁiﬁ STk

2. Sulphuric acid / TR 3

3. Nitric acid / W KT

4. Phosphoric acid / BRGNS 3T

Correct Answer :-

« Sulphuric acid / PR 3T

2) Choose the appropriate articles for the given sentence:

He was

l.an, a

2.a,a

3. an, the

4. the, the

honourable man who did not give into temptation of taking the cash.

Correct Answer :-

« an, the
3) The equivalent rational numbers to;—:is B _3—2 & THBET doadd
Bl %)
4 —10
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—4 —10
6 ' 15

—4 10

g

Correct Answer :-

-4 —10
6 ' 15

4) Choose the correct form of tense for the given sentence:

Drunken driving many accidents.
1. was causing

2. causes

3. 1s causing

4, cause

Correct Answer :-

e Causcs

3.0

4. 12

Correct Answer :-

6) One angle of a cyclic quadrilateral measures 105°. What is the measure of its opposite angle? /

TS T IGUT & TP HIUT B UTY 105° 3| SHP TR 1T B {TY T g1

1. 105°
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2. 255°

3.75°

4. 150°

Correct Answer :-

o 75°
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7) The perimeter of a square plot is 36 sqm and another big square plot is 48 sqm. The owner wants
to have a single square plot of same area. What would be the length of the side of the single square
plot? / T ATAATHIR YES BT URHATY 36 TR Td TH 3T TR YES BT URHATY 48
Fiftftex 81 391 Wi U QA% aTell TP FTPR YIS YT Aredl 81 39 T TTHIR

YES & fp-I1e & dars T g2
1.12m/12Ht
2. 56 sqm / 56 THIEX

3. 15m/ 15 |l

4. 225sqm / 225 qifHTeR

Correct Answer :-

« 15m/15Hl

8) TRR, UST 3R FT FT TS UIIgardt HI AT 82
1. 9T¢
2.9
3. 98!

4. Y

Correct Answer :-

« Yc

9) PSLV and GSLV are: / PSLV Td GSLV %

1. 2 launch vehicles of Indian Satellites / HRATT 3C|’J§-|' 2 Uéa'CI'UT dlg- ((‘1]1’4 Osnlcbﬂ)l

2. 2 important spacecrafts that India has sent to space / HRd gIRT fafer § 9 T 2 II_E:'ETIUT 3fafver

RIC)

3. 2 satellites for telecommunication in India / HRd & §?F|.EIR & 1%111 2 3UYg |

4. 2 systems of satellites / 3UUE! B 2 WoTerl |

Correct Answer :-
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« 2 launch vehicles of Indian Satellites / YR SUUGT o 2 Y&TUT A8 GIE ogﬂopm)l

10) Ifx=3,y=4andz=3,thenthevalueofx3+y3+z3is ./uﬁx=3,y=4@z=3aﬁ
S +y3 + 23 B A Bl

1. 118
2. 169
3.216

4. 625

Correct Answer :-

e 118

11) Choose the correct form of expression to complete the sentence:

I must tell you about my  on my arrival in London.
1. incidents

2. event

3. experiences

4, expeditions

Correct Answer :-

« experiences

12) Choose the correct form of expression to complete the sentence:

He received a large sum of money as _ for his disability in the accident.
1. compensation

2. wages

3. allowance

4. reimbursement

Correct Answer :-

« compensation
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Choose the correct option for the given sentence:

There are two kinds of fats: is saturated fats, the other is unsaturated.
1. one

2. first

3. foremost

4, firstly

Correct Answer :-

14) Who was the founder of Azad Hind Fauj? / 3{TSllq fég BIe & RIS DI A2
1. Subash Chandra Bose / gHTY % a9

2. Bhagat Singh / HITd Rig

3. Chandrashekar Azad / TSRIER 3HTSIG

4. Captain Vikram Batra / &y fawg &

Correct Answer :-

« Subash Chandra Bose / gHTY Tg CIE|

15) A car covers one-fourth of the distance at 25 kmph and the remaining distance at double the speed.
If the total time taken is 10 hrs, then find the total distance. / TI'I@’[ W—iﬁ%ﬂi §'\Pf 25 fopdimver
TR a9 FRd! g 3R TPt gt SRHL T1e IR a9 FRadl 3| afe forar man oo 9w 10 99 @, 7 pA

=8 PR

1. 100 km / 100 fop
2. 200 km / 200 forHT
3. 300 km / 300 T HY

4. 400 km / 400 T HY

Correct Answer :-
« 400 km / 400 Tt

16) If ROHITis coded SPIJU, then how is MOHIT coded? / Tfe ROHIT & SPIIU A Hifsd faran
ST @, df MOHIT S & Pifed foar s

1. NPIJU

2. LNGHS
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3. ZATTU

4. LPUJU

Correct Answer :-

e NPUU

17) When was the ‘Hindi Granth Academy’ in Bhopal established? / HYural § «f&=d} 3y

ABIGH” P RITYAT o &I T A2

1. 1958

2. 1956

3. 1979

4. 1969

Correct Answer :-

1969

18) Propagation of plants ,where a stem cutting of one plant is attached to the stem of another

plant which is planted in the ground is called /

Y T YR, ForTd T Y & e a4 3,

TR 3 WY & 79 | SsT et 8 W % i o e mn g, FeaEr el

1. Vegetative propagation / CRESIRRCEIR|
2. Tissue culture / SHdd oy

3. Grafting / G a1 Had SiYH BT HH
4, Layering / &XU[

Correct Answer :-

« Grafting / TG T1 HAH SieH BT HH

19) e fahed &1 a9 B
1. afgd
2. g%

3. qufed

4. 3fe®w

Correct Answer :-

- cfgd
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20) «ufafe> & 19 91 GUTH 82
1. 3t HTd

2. TSN

3. 9gsille

4. FHYRY

Correct Answer :-

o YT UG

21) Choose the appropriate prepositions for the given sentence:

David works __ the field of network administration, while Marty works _ web
designing.

1. in, of

2. 0n, at

3. at, for

4. in, in

Correct Answer :-

e in, in

22) The following question is based on an encryption system in which /A uy Udh Q'ﬁ?r—‘{l:l' YoTTet
W Syt § forad

Complete the work is coded as Cue Lie Bet /| Complete the work B Cue Lie Bet T BIfSd fopaT ST %
Give me work is coded as Lie Sat Pat / Give me work 1 Lie Sat Pat d BIfSd fomaT SATdT %
Give to others is coded as Pat Ot Tha / Give to others @1 Pat Ot Tha T BIfSd fbaT SATaT %

Which word is coded as Pat? / Pat T fo6 Yo &I Bifsd fear srar %?
1. Work

2. Give

3. Others

4. Complete

Correct Answer :-

e Give
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During heavy exercise, we get muscle cramps in the legs due to accumulation of

VA FERE, P A0 S SR, wﬁﬁﬁmﬁtﬁﬁﬁ'ﬂww

gl

1. Carbon dioxide / PTa SIS HRSS

2. Lactic acid /ém 3T
3. Alcohol / TR

4. \Water / 1

Correct Answer :-

 Lactic acid /am 3T

24) “TTS! IBTEAT” YgTax BT F41 34 82
1. G ¥ Bl 1 AT

2. B IS

3. SHAYTH BT

4. B T

Correct Answer :-

25) “Faults” is the term used for

forg wge g 31

./ “Wleeq” T UTRUTR® qreg 8 ot &

1. Expressing the intensity of earth quakes / Q-LLO'bJ-LI P gl Sad HIA

2. Waves generated by earthquakes / ‘Jidvl—{ I S d a3t
3. Drawbacks in electric wiring/ﬁ@ﬁﬂﬁ%ﬁﬁ
4, Weak points along the boundaries of tectonic pIates/ﬁHﬁ%Wﬁﬁ?ﬂﬂTﬁ%ﬂTﬂ

HHGIR fogaft

Correct Answer :-

« Weak points along the boundaries of tectonic pIates/ﬁHﬁ%Wﬁﬁ?ﬂﬂTﬁ%ﬂTﬂ

SR fogaf

Topic:- Prosthetics Technician

1)
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Which of the following is TRUE about ischial containment socket? / ATO7 TR Hidbe &

IR A FfRfea A a®Ta@ 2
1. Antero-posterior dimension bigger than mediolateral / STUUHR] HTUTH ey g31 ?
2. Antero-posterior dimension equal to mediolateral / STTUHR] TATH Terary & SRIER %

3. Mediolateral dimension bigger than antero-posterior / Ty AT SRy q31 g
4. None of the above / 3URIad H I ﬁ—&c :|—E>pf

Correct Answer :-

« Antero-posterior dimension bigger than mediolateral / SITUYRY HTITH Tears 9§ g31 g

2) Prosthetic cause of abducted gait in Transfemoral prosthesis is

gmuﬂﬁwvﬁnmﬁ mmmmwmwwmﬁﬂa

1. High Lateral wall / 3= BIEEALIR
2. High anterior wall / 3= 3y dlaR
3. High medial wall / 3o H%] SR
4. Low lateral wall / 19 U1 faR

Correct Answer :-

» High medial wall / 3= H&] GldR

3) Source of energy for externally powered prosthesis is ./ STE =Y g

TIfeRT UTl FRAWAT BT Sl | gl
1. Only batteries / ﬁrc%%@m

2. Only harness system / Ryt IULHR YoITelt

3. Only spring / Ry HAT (@TD

4. All of the above / SURIG Tl

Correct Answer :-

« All of the above / ST 4t

4) The socket which has anatomical suspension is ./ TIATHD TR

qTaT didhe gl
1. PTBSC / HidTeiugt
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2. Joint with thigh corset / S ST & 1Y e
3. PTB / Uidteil

4. None of the above / SURIGd & I <31’>\I$r 7'|€f

Correct Answer :-

« PTBSC / Uicieigat

5) Anterior support strap is the part of ./ Y HeTdT gl (@W i
w®) HTHUTTRI

1. Trans humeral prosthesis / Wﬂﬂm m

2. Trans radial prosthesis / @F—m WPT

3. Wrist disarticulation prosthesis / W'I_s\F fageaT TaTIT’T
4. All of the above / SURIeRT FHT

Correct Answer :-

« Trans humeral prosthesis / Wﬂw ?BWIT’T

6) SACH foot refers to WL P (SACH) ® Helild Har g

1. Soft Ankle Cork Heel / TTUC Uhd P ‘sﬂa
2. Solid Ankle Cork Heel / TS Uhdl hich gl
3. Solid Ankle Cushion Heel / GI1ers Ushd H-H gl

4. Soft Ankle Cushion Heel / 1% Ushdl HRH g1l

Correct Answer :-

« Solid Ankle Cushion Heel / FiTelS Uhd P _Eﬁ?[

7) The reason of lumbar Lordotic gait using Transfemoral prosthesis is .

m@%mﬁmw-mwaﬁ%@mmm
|

el

1. Hip flexor weakness / qgc% & 3MpTh DI HHSIRI

2. Hip abductor weakness / ﬁ GRS CLRIR] mﬁ
3. Hip extensor weakness / W D1 TTiRoft U=l Bt HHRT
4, Hip adductor weakness / aﬁ@ CARIREREIG W\—:hﬁ

Correct Answer :-
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» Hip extensor weakness / W CARRAIRUIRC U] mﬁ

8) The most common reason of amputation is . /ﬁ%ﬂq DT m 3HTH BRI

g

1. Trauma only / s 3rard

2. Infection only / Rt HehHTUT
3. Peripheral vascular disease only / Rt aikefta arfget I
4. All of the above / SR T4t

Correct Answer :-

« All of the above / 3URad gHt

9) The mechanical knee joint is located between ./ gifA® g?ﬁ Cal \_rﬁ?;

@APfFa At wige) ¥ T fRE AT eI
1. Adductor tubercle & medial tibial plateau / THIIT e T HE Sf=Ioi Db el

2. Adductor tubercle & mid patella tendon / g ®q Ud 7y SfapT He

3. Adductor tubercle & medial tibial flare / FHAT! G Td HET SASITIDHT IO
4. All of the above / SURIGd IHt

Correct Answer :-

» Adductor tubercle & medial tibial plateau / \}rfila?[:ﬁ G Qa HY \’rlr_(ﬁﬁﬁw @a

10) In case of knee flexion contracture, trans-tibial prosthesis user will walk

in ./ g & TP apa- ! fRufa A, grafefaaa siHwi Iuaieat

H T
1. Excessive lateral thrust of the knee / El,?ef & TS T Tong
2. Absent knee flexion / \’rﬂq-@ﬁ ggﬁ DI AHThd
3. Excessive knee flexion / 3{Tfodh ﬂ?fef DT P
4. All of the above / SURTe T

Correct Answer :-

« Excessive knee flexion / /T YH gc-ﬁ CARIEICE|
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For fabrication of standard transradial socket, what is the casting position to be maintained?

/ AT Sia-Yf&ud Aidee ! fave i & fore, 91T 7@ 9iF arelt w1 srawut wm 82

1. 45 to 60 degree flexion & neutral pronation/supination / 45 T 60 f&h TP Td ARG
SAd/3<I

2. 60 to 90 degree flexion & neutral pronation/supination / 60 ¥ 90 f&I S LCRSERIE!
HIdIH/3<

3. 90 to 120 degree flexion & neutral pronation/supination / 90 q 120 f&h TP Td AL
HAdT/3

4. 0 to 45 degree flexion & neutral pronation/supination / 0 T 45 T SIPp < Td ARSI
HIdH/3<T

Correct Answer :-

« 45 to 60 degree flexion & neutral pronation/supination / 45 q 60 T3 STH I Td RLARE
HAdT/3<

12) The prosthetic foot having double joint is ./ a%% \_rﬁg CLGI Tﬁ'ﬁ w
gl

1. SACH foot / ¥4 TR

2. Jaipur foot / STUYR R
3. STEN foot / ®H IR

4. Seattle foot / ?ﬂ'@ﬁ?

Correct Answer :-

« STEN foot / AW

13) Which one of the following is NOT a below knee gait deviation? / Ffeadd s gzﬁ

¥ R =ra faaes 181 @2
1. Lateral trunk bending / 1ZIT"ef ThY dPbId
2. Delayed knee flexion / qﬁ 1 faeifad P

3. Insufficient knee flexion / GN'QTGT gc-ﬁ DT D
4. Lordosis / U-pealdl

Correct Answer :-

» Lordosis / 3{U-Pealdl
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1. gypsum / TS|

2. hydrated gypsum / Eﬁéﬁs’ﬁﬂ?ﬂﬂ
3. hemi-hydrated gypsum / gHI-88gcs forey
4. dehydrated gypsum / f$ggcs foraw

Correct Answer :-

« hemi-hydrated gypsum / gH-gRScS foread

15) Stability depends on ./ Rz R R st % I
1. Base of support only / Ryt T & YR

2. Height of the object only / Rt a¥d EARSEIE

3. Centre of gravity only / Rrth {chIOhNCUI TS

4. All of the above / UG 4}

Correct Answer :-

o All of the above / IR gt

16) The initial bench alignement of Syme’s prosthesis in sagittal plane is .

guftrardf aa ¥ Graws i &1 yRfbe d° S =

1. From AP center of the socket plumb line falls on to the mid foot / Hidbe & )] CR| digd Rec)
AR R USA

2. From AP center of the socket plumb line falls on to the ankle / gidbc &b Eﬂ'—ﬂ % ) W@T
YA R US &

3. From AP center of the socket plumb line falls slightly anterior to posterior 1/3 rd of the foot /

Tidhe & Tt &g I YIgd X1 IR & gewp U A Ty 1/3 W US §

4. None of the above / dLR\IGK‘I ﬁﬁ d‘J\I‘.{qg)f

Correct Answer :-

« From AP center of the socket plumb line falls slightly anterior to posterior 1/3 rd of the foot /

Tihe & TUT g T YIgd 3@ R &b geb W Uiy 1/3 WUsdH &

17) Medial thrust need to be observed during ./ & a?l:[ Heg

TUNG DT Sdalh- B B ATaIHdI 2|
1. Foot flat / U UTE (Fe UelT)

2. Midstance / A% 3{afyfd (&l@@ﬂ)



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

3. Heel off / TSI I3 (81 3i1Hh)
4. Heel Strike /Q@Q[a’ﬁzﬁf (@T’[E\Ti’@

Correct Answer :-

. Midstance / A& 3al¥yfd (&I@;@ﬂ)

GET IT ON
Google Play

18) The main purpose of static alignment is

g

1. To check the fit of the socket only / Rith Tidbe & Bl 93 Bl ST B

2. To check the length of the prosthesis only / Rrth WT’T Gl Q’idl‘g DI S BT

3. To check the quality of the suspension only / Ryt T Bt NUCKI CARSIEERGI]

4. All of the above / UG 4}

Correct Answer :-

« All of the above / TR Gt

19) The normal walking base between the heel centers should be approximately .

TSI & gl & 9 GTH TA BT SHTUR T HElECNEHY

1.2to4inch/2 T 437
2.2to8inch/2 A 85
3.2t010inch/2 T 1039

4.2t012inch /2 ¥ 1289

Correct Answer :-

« 2todinch/2T 43T

20) Initial toe-out during bench alignment is

USIT-RITFYT (SR @1-3m3e)

1. 2-5 degrees / 2-5 &t

2. 5-7 degrees / 5-7 f&it

3. 7-10 degrees / 7-10 i
4. 15 degrees / 15 &t

Correct Answer :-

o 5-7 degrees / 5-7 fei

g

./ 9 TG & IR RfHD
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21) In Transtibial socket, the weight is beared more at ./ gmi%ﬁu?r Hide
#H, g W 3fere g1 3|

1. Shaft of fibula / STgei T & HUB

2. Distal end of tibia / 3=ToI [T & IR BR

3. Patella tendon / STT<dh] e

4. Medial tibial flare / T 3ol db] Iool

Correct Answer :-

« Patella tendon / SITf~IhT HST

22) Control attachment strap is located on ./ oo Saus LEU (ﬂﬁﬂ'
3e¢gHe é ) ™ R4 'Eﬁa'[ % I

1. Non-amputated side between the spine & inferior edge of scapula / ﬁ'c? o €§°f Ud 3 b ah &
3R PR & &9 Bt TR-SUITC aTelt 3R

2. Amputated side between the spine & inferior edge of scapula / e Dt f‘%}f Td 3 AHAD & AR
feh=TR & i<l b1 SUITAT aTell 3R

3. Amputated side between the spine & superior edge of scapula / ﬁ?{ G E'?j Td 3qhdd &
I fhIR & & T SO aTell 3R

4, Non-amputated side between the spine & superior edge of scapula / QQIE' o B@ Td 3 qhdd &
I R & S DI TR-S7UTdT aTelt 3R

Correct Answer :-

« Amputated side between the spine & inferior edge of scapula / ?Qf?{ G B—gpf Td 3 qhdd P 3R
fhR & s DT U aTeit 3R

23) Systematic method of examining the amputee and his/her prosthesis is known as
./ ST ST (YY) TAT AP FAWAT BT WU HI1 Dt sqareyd fafs

FHgand gl

1. checkout procedure / AH3MIC UfehaT

2. alignment procedure / TG0 UfehaT

3. fitting procedure / T uferan

4. clinical procedure / Tg1f-a fehar

Correct Answer :-

« checkout procedure / AH3MIC UfehdT
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24) Anterior trimline of the PTB socket is ./ Wt Aidhe B 3R1 W@@T
(ewrams) gl

1. Proximal % of Patella / GT%W CARA W
2. Middle ¥ of Patella / SITf~AhT BT 15 HeH

3. Distal ¥ of Patella / STT~<IhT BT 14 G

4. None of the above / SURIGd & I d’>\|$r 7‘|€f

Correct Answer :-

« Distal % of Patella / STT<aT &1 Y ¥

25) The main purpose of control cable system is to WABLELE LR LIGIED Hq
e 2l

1. Transmit the force only / b g TamiRd HA1

2. Excursion to the terminal device only / Rrth 3ifaw A1eM I o ST
3. Increase the force only/ I a1 4 Q@ PN

4. All of the above / SURIG T

Correct Answer :-

« All of the above / ST T

26) In case of oedema, amputee should do the ./ TP Y @lﬁ'fﬁ, 3T

Q) B AT A1

1. Strengthening exercise / I¢IhRch UTYTH

2. Stretching exercise / ICEIEEIRIE]
3. Bandaging / tl?f ST

4. None of the above / dLR\IOK‘I f[ﬁ qo\|5r7-|€)[

Correct Answer :-

» Bandaging / tIng SreAT

27) Prosthetic cause for lumbar lordosis is ./ GFR ARSI BT HIRAART
BRI gl

1. High medial wall / 3= H&] gldR

2. Low anterior trim line / f7Y 371 E§CI$MQ{9I (IEHQ’H%"I)
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3. Low medial wall / ﬁng élaR
4. None of the above / wﬂ?ﬁﬁ q ﬁ_&c :|€f

Correct Answer :-

« Low anterior trim line / 9 371 ©eTg ¥4 @ﬂ?ﬂ_{'_ﬂ

28) The main function of transradial socket is to provide ./ ;’m-i‘%u?r e
DI Cgu] ST ST g

1. Comfort onIy/Wﬁ%fﬂ

2. Good force transmission only / Rt 33T 9 YR

3. Use as much as residual limb movement only / Ryt 3fdes I 31w W&I’Q 3T T BT AT
DAl

4. All of the above / UG 4

Correct Answer :-

« All of the above / SURIGd Gt

29) The triangle shape of the Transtibial socket interface will prevent .

ciafefaud Tide SR1YE &1 ABIU THFR ¥ FETE |

1. Flexion of the prosthesis / TﬁTIT'T & ST d-
2. Extension of the prosthesis / Tﬁﬂm o AR

3. Rotation of the prosthesis / WT‘T & YHId
4. Breakage of the socket / Jidbe & Q?ef

Correct Answer :-

« Rotation of the prosthesis / ?ﬁTﬂT[ & YHId

30) Elbow control strap is used for ./ ﬁFﬁ IBLEL R W 37_@?[ QQ’)
& fore ygaa gl @1

1. Lock & unlock the prosthetic elbow unit / m Ebﬁ%:ﬁ Wlé Ca Eﬁﬂef GﬁT QG- & ﬁ‘I'Q

2. Lock & unlock the prosthetic wrist unit / WITI HTs IP1S DI areH 3R W= & 1Y

3. Lock & unlock the prosthetic shoulder unit / m HY DY ng Ca Eﬁ?ﬁr G‘ﬁT LCINE K 1%111
4. None of the above / maﬂ e ﬁ_if qﬁ

Correct Answer :-
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» Lock & unlock the prosthetic elbow unit / m $|6'—‘1| ng CAGNERICECINE G %'Q

31) In Transtibial socket, popliteal area gives counter force to stabilise

al——\-ﬁfﬁmﬂﬁv—c'ﬁ,\‘rﬂﬁqﬁﬂaﬁ aﬁmaﬂﬁ%ﬁlﬁﬂﬁaﬁh%l

1. Distal end of tibia / 3IISITIDT B G BIR

2. Medial tibial flare / ¥ 3ol eIh] Soo]
3. Patella tendon / \_SIT%W GERy|
4. Head of fibula / SfgoifehT T Y

Correct Answer :-

« Patella tendon / ST & SN

32) An amputation through the radius & ulna is called as ./ fEaq 3R 3T

& "y 9 fade 3t SIS
1. Transtibial amputation / CiITeiaTd 3T-fowsa
2. Transradial amputation / @ﬂ-m 3T-fawsa

3. Transhumeral amputation / ¢ £3 g4 Q 3o 371-f9 t2\9 [«

4. Transfemoral amputation / Q'I'\‘:lmw 3T-fawde

Correct Answer :-

« Transradial amputation / @ﬂ-m 3oy

33) Quadriceps tendon is ./ IR (@1fSaw) dexn
g

1. Pressure sensitive area / cd§Id %iad"l-‘lnc'i 5-33[

2. Pressure tolerant area / qdld HS"IQ‘I\IG &%[
3. Hypersensitive / RIIRREEENI

4. None of the above / SR I Ob\lsr'_'l%)[

Correct Answer :-

o Pressure tolerant area / qdld H6*IQ?IQ'1 easr

34) Ideal shape of the below-knee stump for fitting with PTB socket design will be .
/ fiée Aidhe f3TTg & Iy e 8 get & i & R[ur (Few) 31 smesf smeR B
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1. cylindrical / SAETHR
2. bulbous / HETHR

3. conical / QTP R

4. bony / 3R

Correct Answer :-

« cylindrical / SEFTHR

35) ISNY socket design used for above-knee amputees is a ./ geAd FuR A
Tt & T wauTd Py W19 ard sEuIgTaTs Wide fewre, gl

1. thermoplastic socket / dugged Hide

2. flexible thermoplastic socket / T8 dUJIR Tidke

3. thermoplastic socket in a rigid frame /<g HER:] GIERs B e

4. flexible thermoplastic socket in a laminated rigid frame / ueferd £¢ grod # 9 Aoy ged Hide

Correct Answer :-

« flexible thermoplastic socket in a laminated rigid frame / geferd T e1od # 7w doggcd Hidhe

36) Pressure tolerent area in Transtibial stump is . | SIS erepT TYUT (KU) H
a1 we-Rhe &= gl

1. Interosseous membrane / AT %Ic_t‘ﬂ
2. Gastrocenimus / QRIUTS T

3. Shaft of fibula / STESItIT & HUD

4. Patella tendon / STTf=AhT H S

Correct Answer :-

« Patella tendon / ST~AhT HS

37) In an ankle disarticulation prosthesis, the weight-bearing areas are /TEA®

i ofwiT §, g e P ara &7 Fa gl
1. Patella tendon only / Ryt ST He

2. Distal end pad only / Rith GIRI RR& TS
3. Tibial flare only / Rt 3f=IoifoihT ITrol
4. All of the above / UG 4}
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Correct Answer :-

« All of the above / SURIGd Gt

38) Terminal device is used to replace the ./ CARIGEIING]

FH & forg efifaa fEargw &1 va fFar s 21
1. Missing part of the hand / BT & G‘HCI'@R‘T %@

2. Missing part of the leg / gid & \}Iﬂq@lﬂ e

3. Missing part of the finger / STt & @Iﬁq@ﬁ e
4, Missing part of the joint / G‘h_t‘; & W@H e

Correct Answer :-

« Missing part of the hand / BTY & mﬁ %@

39) Energy storing foot is used for ./ et TUGUI HH ardl w
& for vy BT 3

1. A) Athlete only / Rt Tycile
2. B) Very high activity user only/ Rth Sgd 3= Tfafafy aTem Ua el
3. C) Children with low activity only / Rt f59 TIfafafe arct st

4.D)Both A & B/ Gl A 3R B

Correct Answer :-
. D)Both A & B/GHI A 3R B

40) Patients with peripheral vascular disease have . | af¥dfia arfgeeT A1 @A
IR fEeften) ard A gar gl

1. hard socket only/ Rtk #3R Hlde

2. soft liner only / R 7 3ReR (Tt ARR)
3. gel liner only/ Rt Sd SRR (OId AER)
4. both Soft liner and Gel liner / GFi 7H 3R 3R S 3R

Correct Answer :-

« both Soft liner and Gel liner / i 75 3R 3R Wl SRR
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The length of the TF stump is measured from ./ EIA® YT () G|
SCIE I ATd ST 2

1. Greater trochanter / gt RRR®

2. Adductor longus tendon / QSdCQ Q1\I"I{-I hevl
3. Medial wall / HJ é|a|?
4. Ischial tuberosity / 3TIARYD &g

Correct Answer :-

« Ischial tuberosity / SRS Tg

42) As per ISO Standards, socket is categorizedas _ component of a prosthetic device. /
ST AFSI & IR, i¥e B T ISV (MRS faed) & Wued  &UH
Tiffepa farar Sirar 21

1. interface / 3IARTYSS
2. functional / HTATHD

3. structural / GIFATTI

4. cosmetic / GicdRH

Correct Answer :-

« interface / 3dRTYSS

43) Single axis foot provides ./ Uhel A& W ERGRYEE] Po)
UG ST 3|

1. Dorsi flexion & plantar ﬂexion/qgnfq 3Ppd- Td Ueadid 3P
2. Inversion & eversion / ﬁ?ﬁ'ﬁl:f Qa’ a'i%é?ﬂ

3. Both A and B/ Gl A 3R B

4. None of the above / B'CR%R‘[ i 1?[ ﬁé q—eﬁ

Correct Answer :-

« Dorsi flexion & plantar ﬂexion/‘{@'q 3Mpo- Td SR P

44) What is the position of anterior trimline in Transhumeral single wall socket? /

TIIEITRd Uhd AR Aiche A 3 Serg- 4l (ferars) ot safufa wn g2
1. Anterior to pectoral line / 3T G 31U
2. Inferior to pectoral line / it ¥ 9
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3. Lateral to pectoral line / 3T ¥ o Uy
4. Follows pectoral line / it YT ¥ Uiy

Correct Answer :-

« Follows pectoral line / it YT ¥ Uiy

45) In case of long transradial amputation, elbow hinges are used WAL

TS srdTar ot fRufa §, Sl & Hool & Ry Ea 21
1. To prevent the rotation / gUM b & ferg

2. To lock the elbow / B1g-1 @ SUETIT B & oy

3. To prevent the elbow flexion & extension / HIgl 3HTpd- Td faFR ¥ 59 o ferg

4. None of the above / SIRIGd & I <11’>\I$r 7'|€f

Correct Answer :-

« To prevent the rotation / H;Uﬁ U o ferg

46) What is the maximum depth of the Scarpa triangle in AK mold modification for a
medium stump? / Hifeaw ww & fog v vies AT # wh1uf gr$eTa & siftrean wewrs #m 82

1. 6-10 mm
2. 15-20 mm
3.25 mm

4, 30 mm

Correct Answer :-

e 6-10 mm

47) The height of the anterior wall in Transfemoral prosthesis from the ischial seat level
is ./ SR FERAFAT H 31 SR B ST AR e ®R GRIgd
e g I 2l

1.1.5inch/1.53d

2.3inch/33d
3.2inch /239

4.3.5inch/3.55d

Correct Answer :-
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« 2inch/23d

48) In dynamic response foot, energy is stored at ./ nifaefte ufafrar i
AT =T pe) |, wrf A Tufed gidt 21

1. early stance phase / tlj SafYfa =RT
2. terminal stance phase / sifa srafRufd =R
3. swing phase / I TRl

4. double support / areY Tadq

Correct Answer :-

« early stance phase / qa‘ SafRYfd @ROT

49) The socket force in Symes prosthesis during push-off is ./ QAT PR

FrpTem & SR IR HHEWET H Aive §d@ gaT gl
1. Antero proximal & Postero distal / YU AT Uq Uy AL

2. Postero proximal & Antero distal / U JHIUR TG 37 R
3. Proximal medial & distal lateral / FHIUR] T Q_Q' Xy tlT%f
4. All of the above / 3URIad g4t

Correct Answer :-

« Antero proximal & Postero distal / Y JHITRY Qa' Uy ¥

50) Osseointegration is a suspension method whereby the prosthesis is connected
./ T3 TPIHR (MRS RIRM) T TR TP 8 ™orad g1
CdER UK q SieT T gl

1. Directly to the bone of the residual limb / i SrafRry 3t ot B@ 9
2. Directly to the muscle of the residual limb / Trey m 3T I U I

3. Directly to the ligament of the residual limb / e ARy 3 H 4

4. None of the above / SURIGd & I d’>\|$r 7‘|€f

Correct Answer :-

« Directly to the bone of the residual limb / e eiaﬁm 3T BT 6@ )

51) Neurovascular tract around the femoral triangle contains

Wmﬁﬁmmm$mmmnﬁ@mmﬁ
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fAifed gidi g1

1. Femoral vein, femoral artery and femoral nerve / 3Ry FRRT, Ho Y gt IR FHEAHY
GIECD

2. Femoral vein, femoral artery and quada equana / SR RBRT, Fo 3R YH-t 3R ﬁw

3. Femoral vein, femoral artery and cubital fossa / IRy IQRI, SR YyFT 3R EP;{%?F[
Il

4. None of the above / m?ﬂ oy ﬁ’&c qé)[

Correct Answer :-

« Femoral vein, femoral artery and femoral nerve / SEAHRY R, SR YT 3R S 3ifRYy
GIEEZ!

52) Anterior distal socket discomfort of Transtibial prosthesis will lead to ./

ciafefaua FHRHT i orr R Aidbe RgRAT I B Jhal gl
1. Lateral thrust / U1% TOTG

2. Medial thrust / % YOG

3. Too much knee flexion / dgd 3{feeh E{,Eﬁ Pl pd

4. Not enough knee flexion / Klopaive) E{_C’ef DT phd

Correct Answer :-

« Not enough knee flexion / ot gc-ﬁ DI A

53) In case of transhumeral prosthesis, base plate retainer is located on ./
I

TRIgaARa ST ot fRUfa ¥, sMyR wie ufaure R fRagars
1. Proximal 1/3™ of Forearm / UebI§ & THIURY 1/3
2. Distal 1/3™ ofForearm/m$w 1/3

3. Distal 1/3' of arm / 818 & g3 1/3
4. Proximal 1/3' of arm / Eﬂ%’%ﬂ?ﬁm 1/3

Correct Answer :-

. Distal 1/3 of arm / §18 & X 1/3

54) Reason for lateral trunk bending is ./ 13IT’§ WWIH (aa?r W a%TI’)
BT BRI gl
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1. The prosthesis height is too long / CI’BIH]‘I CARNEIR] dgd 3D B

2. The lateral wall of the socket provide enough support / dide B 13IT"§ SlaR gaT gadq uem
C2GIK

3. The socket is abducted / Gidbe @rI'CIEI'%‘T‘[ %
4, The amputee adductors are weak / 3T &b 3ffUTdP EthTFﬁT %

Correct Answer :-

« The socket is abducted / TIhC 3gafdd %

55) Wooden SACH foot has ./ TSI F AT R (Pe) | gl
1. Internal keel / 3MTARP '_‘ﬁ(_‘l?[

2. External keel / STE31 Aidd

3. BothAandB/a:ﬁA\’)ﬁ?B

4. None of the above / SIRIGd & I do-\l‘.f::lébf

Correct Answer :-

« External keel / STg<} Aldd

56) In chopart, amputation is performed through the ./ =T ﬁ, 3-fade
& |eAH ¥ faa ST g1

1. Transmetatarsal / @ﬂﬁm
2. Transphalangeal / mxﬂﬁ

3. Junction of tarsometatarsal joint / T HeTerdd \SI\IS_ & GTH R

4. Midtarsal joint / freea Gh_é

Correct Answer :-

 Midtarsal joint / freea \_rh_s’

57) Which wall of the quadrilateral socket represents the line of progression & should be

parallel to which plane? / agﬁvﬂuaﬁ @T%ﬁgﬁ |Hidbe) ﬁﬁq@ﬁ?ﬂmmaﬁ?{m
&Y gt & Td fbe aa & FAIaR g a1feq

1. Lateral wall, sagittal plane / tlT”aF é'ﬁl?, gafardf aa
2. Anterior wall, frontal plane / 3{U SlaR, 3U-URfg ad
3. Medial wall, sagittal plane / H&] é|a|€, gafiardf a@
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4, Posterior wall, frontal plane / sy é'ﬁl?, SY-YTg ad

Correct Answer :-

« Medial wall, sagittal plane / H& R, Tt aa

58) Push fit liner is used in case of ./ GEM ¥ 3P U a1 3 (R0
fibe AER) o RN A g aa g1

1. Transfemoral prosthesis / W m

2. Knee disarticulation prosthesis / g?ﬁ & fadedom ?ﬁﬂm
3. Partial foot prosthesis / 3{ifRI Ula m

4. None of the above / SURIGI A I ﬁ—&c 8l

Correct Answer :-

 Kbnee disarticulation prosthesis / g?er CACKEIPE] @éﬂm

59) The area of raw skin caused by rubbing between the prosthesis and the skin is called

as ./ PR 3R T & §H Bl TS GRT AT H=l a1 & &F B
CHESIGIE

1. Bursa / qﬂﬂ
2. Abrasions / &rq*athT

3. Bone spur / @@W‘H
4. Scars / &d fIg

Correct Answer :-

e Abrasions / \’rI'CI‘ZI'EfUT

60) Jaipur foot has ./ TR W (GAR Pe) gl
1. Short keel / BICT Alad

2. Long keel / idT Trad

3. No keel/ﬁg:ﬁ?ﬁfﬁ

4. None of the above / \Sl—R\IOk'I oy C*>\I$r'_'|_epf

Correct Answer :-

« No keel / IS T Tal
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61) Foot rotates at heel strike because of TSP AECRER
% R YOI ST 2|

1. Too soft heel cushion / 3TYH '_-lf[@ ded

2. Too hard heel cushion / 3TYH HAR QTﬁ dcy
3. Too long prosthesis / 3T Sl WT’T

4. Too short prosthesis / TP BleT WPT

Correct Answer :-

« Too hard heel cushion / 3B HSR Q?ﬁ dcy

62) Which of the following suspension design is indicated for ML instability of Transfemoral

amputee? / 18 & | D17 A1 TR fSH1E TGRS 34T QW) $t THTA SRR
¥ e gfRa .

1. Joint with thigh corset / S BIIC & 1Y Gﬁtv:

2. Silesian suspension / Wﬁm:f JH

3. Hip joint & pelvic band / W DI \_rn_S' Ud Sifor q:%p[
4. Total Elastic Suspension / ﬂ'qpf TG SRR

Correct Answer :-

. Hip joint & pelvic band / Hee B SIS T Hif0r gg!

63) While modification, material should be removed from . GMYT & qHY,

Bl ¥ g1 &1 TR

1. Pressure sensitive area / Gd§Id {-iadﬂ-‘{nﬂ 533[

2. Pressure tolerant area / qdld Hsdﬁli\lﬂ easr
3. End of stump / RTT (XU) & 3id
4. Bony prominences / E'é)f & IURI

Correct Answer :-

« Pressure tolerant area / QdId FIE:iQ“FI &Dﬁ

64) Which suspension controls the rotation of the hip joint? / P T G2 W & Gﬁ?;
& o4 &) g sear 82

1. Silesian bandage / R/ t@Q[
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2. Suction suspension / YU I
3. Pelvic band with hip joint / Feg o SIS o 1Y Y10 UgT
4. All of the above / SURIGd JHt

Correct Answer :-

« Pelvic band with hip joint / Beg & SIS b JTY YUY UST

65) Excessive lateral placement of foot may cause ./ O T TP ursf
R ST HY AT 3|

1. Excessive medial thrust of the prosthesis / m DT AATYH T UUTG
2. Excessive knee flexion / 3TUD G- BT SHTHa

3. Foot rotation / TR &1 YHId
4. Foot slap /TR BT YUHt

Correct Answer :-

. Excessive medial thrust of the prosthesis / PATNT I STeIH T UUNG

552)f %ZF knee joint stands for . ?ﬁw gzﬁ & \_rﬁ?; @QTF =t \_rl'\llg?) |
3 I

1. Constant friction / FRR T80
2. Controlled friction / FAIfAd Tefor
3. Continuous friction / @R El'ﬁfUT

4. None of the above / 6LR\IOK‘I f[ﬁ Ob\l'{fﬁ

Correct Answer :-

« Constant friction / fRUR °¥or

67) In TKA alignment of Transfemoral prosthesis, knee joint axis will be ./

SIOPIRT U & &.F.T W@ #, geq & WS &7 3He Sl
1. Anterior to the weight line / o X1 Bl 377
2. Through the weight line / CERECCIEACICES|
3. Posterior to the weight line / o @1 B Uy

4. Medial to the weight line / gol T o 7

Correct Answer :-
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« Posterior to the weight line / oI X1 BT Y

68) The amputee cause for instability of prosthetic knee joint is ./ Q"TaTIT‘T

Yoo & s DI SATRITAT BT 31U QUL FRT g
1. Weak hip flexors / Cpc‘% & HHIR &Ilgirddp
2. Weak knee flexors / ‘ﬂ?ﬁ% HHAR 3padh

3. Weak hip extensors / dgc% G| OIN-I\,SI\R TN

4, Weak hip abductors / Cpc'% & ObJ-I\}‘I\R 3qddd

Correct Answer :-

« Weak hip extensors / W D! HHAR THTRON

69) Casting for very short residual limb, the North Western Supra-condylar suspension

socket should be done in elbow flexion at ./ dgd @% GWQTE 3T %? ﬁI'E
ww ufinft Su-Ha TWRE Hide S Sl e A R
DAl |

1. 80-90 degree / 80-90 TS
2. 30-40 degree / 30-40 TSIt
3. 90-120 degree / 90-120 f&It
4. 45-70 degree / 45-70 &t

Correct Answer :-

« 80-90 degree / 80-90 feil

70) Muenster socket is designed for very short ./ HERCY Hidbe dgd Bl
& forg FRfEa ¢

1. Transhumeral amputee / E’NEEIW ST

2. Transtibial amputee / m 3O

3. Transradial amputee / g’m&l%aa 3T
4. All of the above / SURIG Tl

Correct Answer :-

« Transradial amputee / E\'m—m 3G

71)
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The socket force in Transfemoral prosthesis during heel strike to foot flat is at i

TS B T A [UTe W 9% & R PR HEHAT A dibe ad g

1. Anterior proximal & Posterior distal / 31U IRy Ud Uy ¥

2. Posterior proximal & Anterior distal / U TJHIUR Td 31 AL
3. Medial proximal & Lateral distal / H& gHtoy Td Ut (R3]
4. None of the above / SIRIG H ¥ BIs Tl

Correct Answer :-

« Anterior proximal & Posterior distal / 31Y iUy U4 Uy AL

72) Myoelectric prosthesis is controlled through ./ W@Eﬁm ?ﬁ'ﬂT‘T
& wrenw ¥ frafa gar g

1. Rubber band / Y8R &8

2. Muscle impulse / U= 3HTaT

3. Control cable system / =0T e d yoTelt
4. All of the above / SR T4t

Correct Answer :-

« Muscle impulse / U 3{1aT

73) Manual knee lock prosthetic knee joint is used in case of ./ Eﬁﬁﬂ'ﬂ?ﬁ
& g T R @AY 1 dlp MRARH) ged F oS ot Rfa o
WA fohd 9ITd &

1. A) Good muscle strength only / Ry IH Uit died
2. B) Poor muscle strength only/ Rt @RTd UM didd

3. C) Elderly amputee only / I W’f 3{UTT (Q@?ﬁ Q-mﬂ,ﬂ)

4.D)Both B & C/3HI B 3R C

Correct Answer :-

. D)BothB& C/SHIB 3R C

74) Cross Bar Assembly is attached to the ./ PTY-SR rAqat

QHaA g Bl
1. Biceps pad/mag
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2. Flexible forearm loop / TG UehIS UI=T
3. Triceps pad / ARRw Us
4. All of the above / SURTeRT FHt

Correct Answer :-

o Triceps pad / RRw U

75) Figure 9 harness is used to . GI'IQ'TI%T 9 JUTDPY (E'Iﬁ.'\"-l)

TG B B
1. Suspend the prosthesis / WTJT P! Heifad @ & forg
2. Operate the terminal device / 3ifaH 1A &Y HaTferd dR & forg

3. Operate the elbow unit / PTG SBTs B! TaTfeId B & foTg
4. All of the above / SURIG T

Correct Answer :-

« Operate the terminal device / 3ifH 1Y & HaTferd #R & forg
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